iy

3
P=si
i

1. ¥¥4

B4 R 7 f@ A [E B E ) RS

AT EHREHTIEEE 2 TH 1 407 &I EE S

2. EBEAR

1) FHI4 I ENESHET  ERE PR

2) BT 337 HH H 4&fn 74 67134
= Sfh 84 5H15H

3) &FEtHM
AEEFIT, t@HREE FB IS B 2 E BRIV T, EBAIE RO
SEWEETY TS0 EER L, BEFICLIDEREIEL, Zeno
M 7ZmER S OTRZ XD Z L2 B E T 5,

4) FEHBNA
FHEE(E 1A A 1 A E TEEE 1 a1 R
AR 10 wEEER 15X

L [ LAGEE



PR NER =

Tl
P

¥4 | R THEHEEREEY SRES E BOES
H H TER R SR
THH - T - fER] A7 ¥ = 4 % OB RR
TH I it % SR = 1 47, 549, 877
TH B it R SR 2y 1 47, 549, 877
R = 1 2,035,580 | FiEi¥EfH
1 E30
T A 52V 1 2,861,810 | JEEIG (B AtrETHEE)
40 &
KEERE (EHAR)
2 &
vy K GER SR
6 (E50500
KBTI Vs— s GERASHR)
2 (E50500
FRBTAERS CERL AR
4 &
PHEESS  (ERSR)
11 =
B =B E TR X 1 3,481,200 | EKME (FTEHm)
40 i
TE H AR = 1 19, 608, 297 | KIEHE
2 i
P AN
6 (&30
KT JLS— |
2 (&30
R EAG
4 &
AR FE
11 e
TE AR
430 B

-1- E sz TR R



m
2
%

==
=]

¥4 | R THEHEEREEY SRES E BOES
HH TER R SR
THH - T - fER] A7 # 4 % OB ORR
TE AR
56 F&
FRBA %
322 £k
PR St
2 4k
RARFREERK 2y 16, 341, 880 | 1HEHE (G5 = #HETPiHE) ,
40 5
IK AT
2 1
vy R
6 &
KB F )L/ x— |
2 &
RIS
4 i
A
11 =
TH AR
486 pre
BEBA R
324 P
S EVER = 1,943,670 | SRR
1 ¥5
REE M SR T — & RX— R = 1,277,440 | EEREREHZ SRRT — & ~S— A% Gk
=S 1 e
BiStii} = 437, 500
Him GHE - FHEEES) = 437, 500
ravss = 437,500 | ¥T&%
1 =
-2 - E 2wy IR



%lljll
I

¥4 | R THEHEEREEY SRES E i BOES
H H B
THH - T - fER] B fr & 4 % OB RR
B = 10, 281, 706
[ERES S 2y 10, 281, 706
i Gk 2y 597,000 | fR#pAsmE: (FEkL)
1 X
Ty 2 250, 000 | FEFRRAIERE
1 X
BBy 52V 2,054, 506 | HtREy
1 X
BN 2 7,380,200 | Z&H
1 =
B (ZOtEmER <) = 58, 269, 083
Z DA X 25, 841, 202
— R A = 45, 289, 715
SRR X 129, 400, 000
-3 - EAZmE s A &



